BHARTIYA SHIKSHA BOARD
MARKING SCHEME
SAMPLE QUESTION PAPER 2025-26
CLASS - XII
COMPUTER SCIENCE (160)

QNo , SECTION A (21X1=21) Marks
e WS T (21 x 1 = 21 3H) kiG]
HE&AT

1 (d) string#l
(1 mark for correct answer)

(el 3a¢ & faT 1 3i)

2 (= b 1l
(1 mark for correct answer)

(F@eYr 3 & AT 1 31H)

3 False

JHHcd
(1 mark for correct answer)

(TWer 3a¢ & T 1 3a)

4 (c) dict student.update(dict marks)
(1 mark for correct answer)

| (W8 37 & faw 1 37)

5 (BYCYVY Vi, Vksit Bharat 2047')
(1 mark for correct answer)

(T 3¢ & fow 1 37)

6 (a) INSERT INTO
(1 mark for correct answer)

(Ter 397 & AT 1 37%)

7 (b) 34.0
(1 mark for correct answer)

(HeY 3a¢ & o 1 3i)

8 (b) Banana#Apple#
(1 mark for correct answer)

(T I & fav 1 3i&)

9 (b) DROP DATABASE SCHOOL;
(1 mark for correct answer)

(FeY 3¢ & T 1 37)

10 atr
(1 mark for correct answer)

(TEY 30 & fAT 1 3i)

1 (Cc) 3
(1 mark for correct answer)




(Fer 3a% & fav 1 3)

12

(b) IN
(1 mark for correct answer)

(Har 3¢ & fav 1 3)

13

(a) DESCRIBE
(1 mark for correct answer)

(Her 3a¢ & faT 1 31%)

14

DISTINCT
(1 mark for correct answer)

(Har 3% & foT 1 376)

135

(b) LIKE
(1 mark for correct answer)

(TRY 3a¥ & faT 1 37®)

16

(d) DELETE FROM employee;
(1 mark for correct answer)

(HEr 30X & o 1 3i)

17

(d) Microwave
(1 mark for correct answer)

(T8 3 & AT 1 37)

18

(c) SMTP
(1 mark for correct answer)

(Fer 3 & e 1 37)

19

(c)Circuit
(c) Hfere

(1 mark for correct answer)

(FEr 39X & AT 1 31%)

20

(a) Both A and R are true, and R is the correct explanation of A.

(a) T 3T IR =T T § 3R IR, v & AT 9 vosdeor §

(1 mark for correct answer)

(Fer I & fav 1 3®)

21

(c) Ais True but R is False

(C) T Hed & lfehet 3R 916 d &
(1 mark for correct answer)

(T X & AT 1 37®)

~ SECTION B (7 X 2 =14)
3 & (7 x 2=14 3i®)

(a)(i) Voice Over Internet Protocol
Uniform Resource Locator

== —=== = —o e e o m =

14 each




afeq 3aX ST Welhid/ $eXeie WIekhie I JHTars

g RERT @it / §ATE FAE dihet
(i1) e
PAN Examples LAN Examples =

Connecting two cell phones to
transfer data

Connecting computers in a
school

Connecting smartphone to a

smart Watch

Connecting computers in an
office

==

r = T
o1 SETETOT e JETEor e

3T TUHART T & e @ | Rl e # FgeX F=ae

A Plel Foiae HLel T
(e W e afT @ | e sl & el Feae
heATC Al el

(b) (i) ke 3

FTP

HTTP

File Transfer Protocol

H!pgr Text Transfer Protocol

FTP is used to transfer files
between computers over the

internet

HTTP is utilized to access web
pages

—— m———

WIgA FEG WERE | G SR G et
UHEIAT (FTP) & 39T edaic | HTTP & 39dleT a9 Yol d&
9 FYSRT & T Hrgel ggaer & T fhar Ser g
TUATIRT el & fore fomar
(ii)) Google Chrome, Microsoft Edge, Safari, Mozilla Firefox,
Opera etc.
nfe
23 Num=50 ) #Error 1
for x in range (0,Num) : #Error 2
if x%2==0: #Error 3
print (x*4)
elif x%3==0: #$Error 4
print (x+5)
else:

print (x+10)

(Y2 Mark
for each

correction
made)

(S
FUR &




foe %

31)
24 | CREATE DATABASE Hospital: (1 mark for
each
CREATE TABLE Doctor correct
(Doctor id int, command)
Doctor name varchar(20), (9%
Doctor Specialization varchar(10)); e
& fore 1
HF)
25 |'{&) 2
def Count (CITIES):
for P in CITIES:
if len(P)>5:
print (P)
OR
(b)
def Ending (Names):
for N in Names:
1f N[len(N)-1]=='A":
print (N)

26 | Default parameter takes the default values when no (2 mark
argument/value is passed during the function call. for briefly
Consider the following function definition and two function calls: | explaining
def FUN (A,B=2): the

o
FUN (3, 5) # Output will be: A=3 B=5 &?ET:;E"
FUN (3) # Output will be: A=3 B=2 help of
In the second call, when no value was passed for B, B takes its a suitable
default value. example)
STq Wl Hid & AR P Th/ART qiea =& fFar sar &
ar Bwice WeAex Bwiee A dar & (S
mmmqﬁmmammmwﬁmrﬁ ST
def FUN (A,B=2): HERIEr

print ('A=',A, 'B=',B) %qﬂﬁ.'#

FUN(3,5) # Output will be: A=3 B=5 AT
FUN (3) # Output will be: A=3 B=2 HTYRT

; Fr e

G Fe H, 59 BF AT FF AW ala 7€ far =, @ B | o &

9T f3%iee AR oar B AT 2 3i%)




27

(@) Ll.extend(L2)
ﬂﬂ.message.endswith('.')

28

(a)DDL:CREATE, DROP
DML: INSERT, DELETE

OR
(b) (i) Candidate Keys:P_Id, Product
(11) Primary Key:P_lId

(i) $33= $r:P_Id, Product
(ii) ‘;nstﬂi‘r &:P_Id

— —

—

29

(a)
def SHORTWORDS():

c=0
file=open('WORKBANK.TXT','r')
line file.read()
word line.split ()
for w in word:

if len(w)<5:

print (w)

file.close ()

(Y2 Mark for opening the file)

| (PT5eT @ietat @ fAIT 1 )

(1 Mark for reading line and/or splitting)

(5T Yeat 3R/ 37aT R#IaT 3 & e 1 %)
(1 Mark for checking condition)

(FRIfa Sirest & fae 1 3i)
(Y2 Mark for printing word)

(?rg [He & 3 AT v 3%

OR
(b)
def Count () :
file=npen('INDIA.TXT','r')
c=0

S=file.read().split()
for W in S:
if W=="India":
c=c+1
print (c)
file.close()

(2 Mark for opening the file)
(PTEeT Tleted & 10 ¥ 3%)

(1 Mark for reading all lines, and dividing it into words)

i




(T Gl # Tg R 3 wel # RwleT w7 & vl
)

(1 Mark for checking condition and incrementing count)

(R i 3N count &gl & folT 1 3ia)
(V2 Mark for displaying count)

(el gafdla #va & AT Vs @)

30 | (a) (1%
CAPITAL=[] marks for
def push capital(d _capital): each

for ¢ in d capital: function)
print(c)
1f lenf(c) > 4:
CAPITAL.append(d capital[c])
(TR
def pop capital(): Bl &
while CAPITAL: m.‘ 1/&
print (CAPITAL.pop()) .
else: 31<h)
print ("Stack empty")
OR
(1%
(b) marks for
school=[] each
def PUSh_TEEC(TLiSt) . function)
for' L in TIyst:
if L[1l]=="Chemistry":
school.append (L[0]) Eﬂfﬂﬁ?
HeFed &
def Pop Teac():
while school: ﬁ."l'ﬂ'1 %
print (school.pop()) 3<h)
else:
print ("Underflow")
31 (a)

10.0 # 10.0
10.0 $ 20
2.0 # 2.0

10.0 8 2.0
1.0 # 1.0

1.0 8 2.0
( Y2 mark for each correct line of output)

(3m3eYe & wAS el Gfed & faw 1 3

OR

(b)

[(O, 4, 2], [8, 4, 12], [6, 16, 8]]




(1 mark for each correct sublist)

(FeIsh ol IR & T 1 37)

Section-D ( 4 x 4 = 16 Marks)
@S 3 (4 x 4=16 3ih)

(1 Mark
for each
correct

query)
(T

Hel query

&)

(1 mark

for each
correct

output)

(& Hor

H13cYC
+ QT 1

)

32 a) |
&)SELECT Name FROM Students WHERE Marks > 80 AND
Subject = 'Physics'; ,
(1) ALTER TABLE Students ADD PRIMARY KEY
(StudentId) ;
(111) UPDATE Students SET City='"'Chennai’ WHERE
StudentId=3;
(Iv) SELECT * FROM Students WHERE Name LIKE 'S%'
AND Marks > 80;
OR
(b)
(i) , (ii)
Name Age
Rohan 18 | Name | Marks
Priya 19 Riya | 92 |
Sara 19 Priyva | 90 |
Sara 89
Rohan 85
Sohan | 75
_Amit 65
() —S_ubject Total_Students
| Physics 2
Chemistry 2
Mathematics 2
1A% W X
[(Ei)stinct City
Delhi
Mumbai
Bangalore
Kolkata
33 import csv

def Enter():
myfile=open("Tech.csv","a", newline="")
csvwriter=csv.writer (myfile)
Eve Name=input ("Enter Event Name=")
Stu_Name=input ("Enter Student Name=")
Sch_Name=input ("Enter School Name=")
Result=input ("Enter Result=")

rec=[Eve_Name, Stu_Name, Sch Name, Result]
csvwriter.writerow (rec)




myfile.close()

def Winner count():
c=0 :
f=open("Tech.csv","r")
csvreader=csv.reader(f)
c=0
for x 1n csvreader:

if x[3]=="Winner":
c=c+1

print ("No. of Winners=",c)
f.close()

(V2 Mark for opening the csv file correctly in the function Enter())
(Y2 Mark for reading the data from the user in the function Enter())

Enter())

(V2 Mark for opening the csv file correctly in the function
Winner_count())

(Y2 Mark for reading the data from the file in the function
Winner_count())

(Y2 Mark for loop in the function Winner_count())

(V2 Mark for checking the condition correctly in the function
Winner_count())

(V2 Mark for printing the output correctly in the function

Winner_count())

34

(a) SELECT Emp Id, Emp Name, Dept Name, Location
FROM Employee E, Department D WHERE
E.Dept Id=D.Dept Id;

(b) SELECT Emp Id, Emp Name FROM Employee WHERE
emailld is NULL;

(c) SELECT D.Dept Name, AVG(E.SALARY)FROM
Employee E,Department D WHERE
E.Dept Id=D.Dept Id GROUP BY Dept Name;

8 B A
OR
SELECT * FROM Employee, Department;

35

(V2 Mark for writing the data correctly into the csv file in the function

(d) DELETE FROM Employee WHERE Hiredate<’2020-07-

import mysql.connector as pm

DB=pm.connect (host="1localhost", user="root", \
passwd="bazar", database="Market")

MyCursor=DB.cursor ()
QRY="SELECT * FROM ITEM WHERE PRICE>1000"

MyCursor.execute (QRY)
Data=MyCursor.fetchall ()

for rec in Data:
print (rec)
DB.close ()

( Y2 mark for importing any correct module/method)

(1 Mark
for each
correct

query)

(TF
dal FAd
F felv 1
)




(1 mark for correct connect())

(1 mark for correctly executing the query)
( ¥2 mark for correctly fetching the data)
(1 mark for correctly displaying data)

(g o W Ao/ e =S F A » 35
(H@T connect () & fow 1 3iEI'T)

(FaT 1 W/ Gor ¥ PeuRE W F RBw 1 3@
(STT |EY &1 & o= & AT 1 3i)

(STT WY &1 A weRla a=r & fAv 1 37

Section-E (2 x 5 = 10 Marks)
@3 § (2 x 5=10 3i®)

import pickle

def Add():
myfile=open ("book.dat", "ab")
book id=int (input ("Enter Book Id="))
title=input ("Enter book title=")
author=input ("Enter Author Name=")
Subject=input ("Enter Subject=")
rec=[baﬂk_id,title,authﬂr,Subject].'
pickle.dump(rec,myfile)
myfile.close ()

def Search():
| .myfile=ﬂpen("bmak.dat","rb")
count=0
Cry:
while True:
rec=pickle.load (myfile)
if rec[3]=="Fiction":
count=count+1
eXcept:
myfile.close ()
print ("No. of Books having Subject Fiction=", count)

(Y2 mark of import pickle)
(Y2 mark for opening file in append mode)
(Y2 mark for accepting the content from user)

(Y2 mark for using dump command to write the content on file)

(Y2 mark for opening file in read mode in Search function)

(1 mark for reading the content of the file book.dat)

(1 mark for checking the condition and incrementing the value of count)
(Y2 mark for displaying the value of count)

(pickle HRITd et & AT 1 37
(mﬁaﬁaﬁsmﬁmﬁﬁﬁvam)

e “ S




(Mﬂm#mmmﬁﬁuzaﬁ)
{mﬁmﬂwﬁaﬁﬁﬁvdmpmwmmq?kﬁl
(Search mm#mﬁﬁﬂam#mﬂﬁﬁﬁvamj
(IS book.dat HI WAt wget & v 1 379
(?Tﬁ'ﬁﬁ'ﬂ'mﬁ'ﬁ?cﬂunt*mﬂﬁm*ﬁﬂlﬁ)
(cnuntﬁmmﬁmﬂ?mhﬁ)

37

(

(e

(c)

(€) WAN

(a) Block C as it has maximum number of computers
(b) HUB/SWITCH

(d) Optical Fibre

(a)mcmmmmm#m%
(b) g&/fa=r

e)

) WAN

Moy,




